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1. Correct Answer: B
Explanation: Choice B is correct because it vividly captures Ahab’s obsessive and
vengeful pursuit of Moby-Dick, reflecting the novel’s central themes of obsession and
revenge.

Distractor Explanations:
e Choice A is incorrect. While it speaks to Ahab’s hate and revenge, it does not
encapsulate the overarching theme of obsession.

e Choice C is incorrect. This quote reflects on the nature of the sea and the soul,
not directly on Ahab’s obsession with the whale.

e Choice D is incorrect. The focus here is on the whale’s appearance, not the central
theme of Ahab’s obsession and revenge.

2. Correct Answer: D
Explanation: Choice D is correct because it directly reflects Austen’s critique of
societal norms and the expectations placed upon women regarding marriage.

Distractor Explanations:
e Choice A is incorrect. While it introduces the theme of marriage, it does not
directly address the critique of societal norms.

e Choice B is incorrect. This quote reflects on individual character interactions, not
the broader societal critique.

e Choice C is incorrect. It speaks to personal feelings between characters rather
than the novel’s overarching themes.

3. Correct Answer: C
Explanation: Choice C is correct because it encapsulates the novel’s central themes of
bureaucratic absurdity and the protagonist’s struggle against a system that condemns
in ignorance.

Distractor Explanations:
e Choice A is incorrect. While it introduces the story’s premise, it does not delve
into the deeper themes of existential dread and bureaucratic absurdity.

e Choice B is incorrect. It refers to legal accessibility but does not directly address
the novel’s critique of the legal system.
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e Choice D is incorrect. This quote reflects Kafka’s existential themes but does not
specifically illustrate the struggle against bureaucratic absurdity.

4. Correct Answer: C
Explanation: Choice C is correct because it reflects the deepening bond between Huck
and Jim, illustrating the novel’s exploration of racial themes and Huck’s moral growth.

Distractor Explanations:

e Choice A is incorrect as it merely sets the scene and does not directly address the
themes of race or morality.

e Choice B is incorrect because, although it reflects the novel’s setting, it does not
directly illustrate the central themes of race and freedom.

e Choice D is incorrect as it represents Huck’s moral introspection but does not
specifically address his relationship with Jim or the critique of societal norms.

5. Correct Answer: B
Explanation: Choice B is correct because it directly illustrates the Bill of Rights’ focus
on personal freedoms, specifically religious freedom, aligning with the claim about the
protection of individual rights.

Distractor Explanations:
e Choice A is incorrect as it pertains to the composition of the House of Represen-
tatives, not individual rights.

e Choice C is incorrect because it describes the executive power, not the specific
rights of citizens outlined in the Bill of Rights.

e Choice D is incorrect as it addresses the composition of the Senate, which does
not directly relate to the theme of personal freedoms and legal protections.

6. Correct Answer: D
Explanation: Choice D is correct because it encapsulates the novel’s magical real-
ism, blending the mystical with the real, and reflecting on the deeper themes of time,
memory, and solitude.

Distractor Explanations:
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e Choice A is incorrect as it introduces the novel but does not directly illustrate the
blending of magical and historical elements.

e Choice B is incorrect because, although it reflects the novel’s setting and style, it
does not directly address the novel’s central themes.

e Choice C is incorrect as it pertains to a specific character’s experience rather than
the overall thematic exploration of the novel.

7. Correct Answer: B
Explanation: Choice B is correct because it directly supports the researchers’ hypoth-
esis by showing a clear negative impact of industrial pollution on marine life in terms
of both health and biodiversity.

Distractor Explanations:
e Choice A is incorrect as it suggests that moderate industrial activity does not
affect marine biodiversity, contradicting the hypothesis.

e Choice C is incorrect because it implies adaptability and resilience of marine life
to pollution, which does not align with the hypothesis of detrimental effects.

e Choice D is incorrect as it indicates no significant difference between polluted and
non-polluted areas, contrary to the hypothesis.

8. Correct Answer: D
Explanation: Choice D is correct because it directly supports the hypothesis by
showing a negative correlation between excessive social media use and self-esteem,
especially in the context of negative interactions and social comparison.

Distractor Explanations:
e Choice A is incorrect as it suggests a positive impact of moderate social media
use, which does not address the hypothesis about excessive use.

e Choice B is incorrect because it indicates no correlation between social media
usage and self-esteem, contradicting the hypothesis.

e Choice C is incorrect as it focuses on positive interactions, whereas the hypothesis
concerns negative interactions and social comparison.
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9. Correct Answer: A
Explanation: Choice A is correct because it aligns with the hypothesis by demon-
strating significant societal and economic shifts following the Black Death, indicative
of the decline of feudalism and emergence of new systems.

Distractor Explanations:
e Choice B is incorrect as it contradicts the hypothesis by suggesting minimal impact
on society.

e Choice C is incorrect because it attributes changes to factors other than the Black
Death, contrary to the hypothesis.

e Choice D is incorrect as it implies a strengthening of feudalism, which is opposite
to the hypothesized decline.



